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Q1 (10 points) The data below were collected on sockeye salmon swimming in water enroufe to spawning.
Each fish was observed many times and only the average values for each fish is reported in the table by a single
individual using a stopwatch to time a fish travelling between two markers.

(a) Estimate the mean speed for the group of fishes and the error in the value. Show your steps.

(b) If instead of all the data, you were given the data for the first 10 fishes, what error would you estimate for
the mean value of speed for the 10 fishes? How does your result compare with the mean speed from part (a)?

Table - Estimates of swimming speed of sockeye salmon tracked between Vancouver Island and the mainland of British Columbia
(Quinn, Thomas P., 1988, Can. J. Zool. v66, p2160-3})

Fish No. of Av. Swimming lnamec 4+
observations | speed, cm/s J
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Q2 (Bonus 2 points) On what variables would the settling time for sand grains in a bitumen extraction unit
depend if the tank was not being continuously agitated? The suspension was initially thoroughly mixed. What
dimensionless group(s) can you form? Assume the particles do not interact with or hinder one another.
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